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= ,Rh: A2t E, Ha: &K & A2t

A, =2 X, 2=KH, SSA

%/\laaxﬂ)

H =< =Xl )




=N Xx U

1) c=&8g8HE
W

&
ok

ol

—t

<J

I

ol

-t

00
oF

e

uJ

)

Rp(1) x Np
Rp(2) x Np

: W

ol 3=

F

A
o

XE Rp(2): =l 11 & Np:

0




1) EANAESH
AlI2F O|&Ql AL : W =Rh X Ha
AlI2F O|LHCl R : W =Rh X Ha
1/3 £= 1/2Rh (Hs—Ha)
MELQUE Hs : AHEZ=AIZ

2) BI=A 2 SA
A2t Olatel 3= W
&

f Rh X Ha
A2 OILHGI B W

Rh X Ha

+ 3/4h(Hs—Ha) x Rh
Bt Al SHET|
A0l A2 : W =Rh X Ha

A2 OlLHQl B2 : W=Rh X Ha
Ha/Hs X (Hs—Ha) X Rh




E =Rh x Ha
= (Rh X Hs)

E
X 0.20Hs) = 1.2Hs X Rh
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